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1. Recent research has revealed that passive smoking, even over a short period of time, such as thirty minutes, can temporarily damage a non-smoker’s
heart. Experts have been warning for some time of the health risks caused by inhaling the smoke from other people’s cigarettes, but the average person
does not yet seem to be very aware of these. People in most countries are now quite well informed about the dangers of smoking, whether or not they
choose to act on the information and stop smoking. They know, for example, that smoking can lead to respiratory diseases, including serious diseases,
such as lung cancer. However, their knowledge of the consequences of passive smoking seems very limited. According to this part of the text, passive
smoking ...

O can temporarily damage a smoker’s heart
O can permanently damage a nearby animals’ heart
O can temporarily damage a non-smoker’s heart

O can permanently damage a non-smoker’s heart
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2. Choose the correctly used part of the sentence. will Mr. Forbes be able to regain control of the company.

© Only with hard work
O With hard work
O Only if he works hardly

© In spite of his hard work

3. Choose the correct answer.

There some memories that Christina deliberately to forget and ignore, and she to even think of them.

O was /was wanting / did not having dared

O were / was wanting / did not having dared

O were / wanted / did not dare

O was /wanted / did not daring

4. Choose the correct answer.

The doctor pointed to some bones on his desk. ‘They're a man's foot bones, he said. 'They were found deep in the floor of the caye outside, and I've been
examining them. The C14 test shows that they are about 12,000 years old. 'What's the Cl4 test?' | asked. 'It's a way of finding the age of some things. The
"C" means carbon, and carbon is found in all living things. It is also found in the remains of things that lived and died thousands or millions of years ago.
Plants and animals take carbon into their bodies from the air and in their food. It stays in their remains. 'Well, there are two kinds of carbon, called Carbon
12 (CI2) and Carbon 14 (Cl4). Both are taken in together; but in living things C12 is one million times more plentiful than C14. The two kinds are different in

one important way.
According to the text C14 is .

O one million times less plentiful than ¢12
O “C"means oxygen that turns to carbon in all living things
© floras and faunas of the earth reduce carbon

O founded in caye islands and reproduced to consume



5. Read the passage and decide whether the statement below is true or false.

If you are worried about a friend, listen to their problems and try to be sympathetic, and be patient. Most importantly, try and help them find help. If you're
feeling blue yourself, don't panic - you need to try and understand your emotions. You are not the first person to feel like this. Try writing things down in a
diary or talking to a friend. Perhaps writing a poem or song, drawing a picture or listening to music will help you express and understand your emotions.
But most importantly of all, do something you enjoy, whether it's watching TV, playing sport or just going for a walk. Talk to someone It is a good idea for
teenagers who feel depressed to try and talk to someone they like and feel comfortable with. But if they don't want to talk to friends and family, there are
lots of people who are there to help. They could talk to their teacher or school nurse or maybe their doctor. Alternatively, there are telephone helplines
which give confidential help to anyone with a problem. Talking to someone might help others to cope with how they are feeling.

Talking to a person who is depressed is a good way to help.

O False

O True

6. Choose the correct answer.
Cynthia her homework on her own up till now.

O is believed to be done
O is believed to doing
O is believed to have done

O is believed to be doing

7. Choose the odd word out.
O disappointed

O confused

O hopeful

O scared



8. Choose the correct answer.
A of wolves
A of lions

A of dolphins
A of fish

O pride, pack, school, pod
O pod, school, pack, pride
O pack, pride, pod, school

O school, pod, pride, pack

9. Choose the correct answer.
But for the suggestion of Senior Mrs. McGee, Crystal

S0 many votes.

o

will have gained

o

wouldn't have gained
O would not be gained

O will be gained

10. Choose the correct answer.
As she through the rows of stalls, her right arm accidentally into the vendor who the balloons.

O ran/bumping / holding

O ran/bumped / was holding

O run/bumped / was holding

O run/bump / hold

11. Choose the correct answer.

The contract between those two countries beneficial for both countries.
O has known to be

O has been known to be

O is known to be

O is knowing to be

12. Choose the correct answer.
She doesn't like of shoes.

O some /that

O any/those

O some /those

O any/this

13. Choose the correct answer.

Their relationship worse all the time. One of the reason of this was that their trust on each other
O had got / was gradually being erode

O got/ gradually was eroding

O was getting / gradually erode

o

was getting / was gradually eroding



14. Choose the correct answer.
If it for Jasmin, the tour guide the control.

O weren't / will be lost

O weren't / would have lost

O hadn't been / would have lost

O hadn't been / will loose

15. Choose the correct answer.

When | was in my 4™ grade, | late to school.
O was consequently been

©O was being consequently

O was consequently be

O was consequently being

16. Choose the correct answer.
It late at night, and the night market outside the mall

to set up stalls. The small businesses busy, and more and more people .

got / had begun / were / were gathering

o}

got / began / were / gathered

e}

O were getting / begin / were / were gathering

was getting / began / were / were gathering

o

17. Choose the correct answer.
“The partners at the medical groups ___ their bonuses based on spending less money. How they
~ Sal Rosselli, president, National Union of Healthcare Workers

less money? Provide less care.”

O got/did/ had spent
O got/do/ spent
O get/do/ spend

O get/did/ spent

18. Choose the correct answer.

A baby

A machine

A student

A face

O powerful, cheerful, beautiful, careful

beautiful, careful, cheerful, powerful

o O

careful, beautiful, powerful, cheerful

O cheerful, powerful, careful, beautiful

19. Read the passage and choose the best answer.

Almost thirty years ago, children in Uzbekistan walked to school and played in parks and playing fields after school and at the weekend. Nowadays they are
usually driven to school by parents anxious about safety and spend hours glued to television screens or computer games. Currently, society playing fields
are being sold off to property developers at an alarming rate. ‘'This change in lifestyle has, sadly, meant greater restrictions on children, says the reporter of
Kun.Uz Javohir Saidov. ‘If children continue to be this inactive, they'll be storing up big problems for the future.

According to paragraph above, what does the reporter concern about?

O Increasing speed of property's development
O Future health of Uzbek children

Parents have less time stay with their children

o}

Spending more time on TV affect academic level

o}



20. Choose the correct answer.
Back in 2020, as oil and gas prices

because of the COVID crisis, New Mexico

an emergency program that oil and gas

producers to temporarily stop production and shut down wells for up to three years without penalty.

O tanked / had implemented / would have allowed
O was tanking / implemented / would allow

O had tanked / implemented / will allow

O tanked / implemented / would allow

21. Choose the correct answer.
If it for Jamila, the schedule of the course still

be ready.

O weren't/ wouldn't

O weren't / will not

O wasn't /wouldn't

O wasn't/ will not

22. Choose the correct answer.

The Principal entered the room and looked around. Most students
write something at the same time.

O were working / stared / pretending
O were working / was staring / pretending
O worked / was staring / pretending

O worked / stared / pretended

23. Choose the correct answer.
“The Slick” on how the fossil fuel industry
producing states.

O isreporting / drove / influencing
O reports / is driving / influencing
O reported / drove / influenced

O had reported / had driven / influenced

24. Choose the word that suits the definition.
long line of cars that are not moving

O traffic jam
O carpark
O traffic light

O got stuck

25. Choose the correct answer.

A of cattle

A of birds

A of sheep

A of geese

O herd, flock, drove, gaggle

O drove, gaggle, herd, flock
O gaggle, herd, flock, drove

O flock, drove, gaggle, herd

at their desks, but facilitator

climate change and

out of the window and to

climate policy in some of the nation’s most important oil- and gas-



26. Choose the correct answer.
If only |

O hadn't done / wouldn't have gotten
O didn't / wouldn't have gotten
O did / wouldn't have gotten

O had done / wouldn't have gotten

27. Choose the similar meaning to the word.
To match

O goaway
O go with
O goout

O godown

28. Choose the correct answer.
But for his advice, | the job of my dream.

O couldn't be found
O can't be finding
O couldn’t find

O canfind

29. Choose the odd word out.
O lightning

O thunder

O storm

O light

30. Choose the odd word out.
O Sheis nearly eighty.

O Itis one fourth of the cake.
O Heis in his mid-fifties.

O They are approximately thirty.

31. Choose the correct answer.
There are four fish in my aquarium than in yours.

o few
O less
o little
o fewer

32. Choose the correct answer.

| on the verge of living the building when the Prime Minister out of the hall after a long meeting and

O were /went / nodded
O was/ had gone / nodded
O was/went/nodded

O were / had gone / nodded

my home tasks, | unsatisfactory mark today.

to meet us.



33. Choose the correct answer.

The masterpiece in the state Museum, but it to be fake one.

O is thought to be / turns out
O was thought to be / is turning to be out
O was thinking to be / is turning to be out

© s thinking to be / turned out

34. Choose the correct answer.
There is juice in this glass than in that one.

O alittle fewer

O allittle few

O allittle least

O alittle less

35. Choose the correct answer.

Oceans cover more than70% of the earth's surface. Despite the vastness of this area, we know little about it. The oceans are just as diverse as the land. They are
interwoven with history, although man has looked upon them as barriers and alien spaces.

Life began in the ocean. More than 3% billion years ago there evolved simple. Today the oceans support a wealth of simple and complex sea life, from
phytoplankton (drifting plants) to crustaceans (shrimp, crabs) to marine mammals. But through ignorance and misunderstanding we are placing these resources

in jeopardy.

According to the text, single-celled organisms are
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36. Choose the INCORRECT answer.
Air pollution is the result of man's use of lethal chemicals, and is common hazard in both industrial and developing pollution is acid rain. Acid rain results from the

release into the atmosphere of sulphur oxide and nitrogen oxide. Electrical generating plants, industrial boilers, large smelters, and automobiles are among the
chief source of these emissions. The gases react with water droplets, forming a diluted mixture of sulphuric acid and nitric acid, and it is this mixture that returns
to earth in the form of acid rain, mist, or snow. Pushed by wind currents, the acid rain often falls to the ground far from its point of origin.

O Acid rain results from oxygen and sulphur oxide
O Gases form a diluted mixture off sulphuric acid and nitric acid with water
O The sources of acid rain are industrial boilers, large smelters, ...

O Air pollution is the result of lethal chemicals by humanity



37. Choose the correct answer.
There are apples on the table.

o little
O few
O less

O fewer

38. Choose the INCORRECT answer.

How did the universe begin, and when? These questions have puzzled men for countless years. Present-day theories fall into two classes-evolutionary and steady-
state.

The Belgian George Lemaitre put forward the idea that about 20,000 million years ago all the matter in the universe-enough, he estimated, to make up a hundred
thousand million galaxies-was all concentrated in one small mass, which he called the 'primeval atom'. This primeval atom exploded for some reason, sending its
matter out in all directions, and as the expansion slowed down, a steady stats resulted, at which time the galaxies formed. Something then upset the balance and
the universe started expanding again, and this is the state in which the universe is now. There are variations on this theory: it may be that there was no steady
state. However, basically, evolutionary theories take it that the universe was formed in one place at one point in time and has been expanding ever since.

O There are 3 ways of theories: evolutionary, steady-state, temporary.

According to Belgian scientist, 100000 million galaxies were all concentrated in one small mass

(o]

O The universe was formed in the same period and in one place.
o]

‘Primeval atom’ expanded sending its matter out all directions.

39. Choose the correct answer.
If you the news, they a chance to rethink their plan.

reported / will have had

(o]
O report / will have

@]

reported / will have

O report/ would have

40. Choose the correct answer.
If you out, lock the door and leave the key to our neighbor.

O should happen to go
O should happened to be going
O should happened to be gone

O should happen to be going
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